Pre-Position Agreement for Disaster Debris Management

This AGREEMENT is between City of Norman, Oklahoma, a municipal corporation (hereinafter referred to as CITY) and TAG GRINDING SERVICES, INC., (hereinafter referred to as CONTRACTOR).

WITNESSETH:

For the purpose and subject to the terms and conditions hereinafter set forth, the CITY hereby contracts for certain services, and CONTRACTOR is prepared to provide such services as are agreed to in this document.

The parties agree as follows:

ARTICLE 1 - EFFECTIVE DATE.

ARTICLE 2 - NATURE OF AGREEMENT.

It is agreed and understood between the parties hereto that this is a pre-positioned or "standby" AGREEMENT. As such, no work is done under this AGREEMENT until such time as a NTP based on the occurrence of a disaster. Actual quantities will vary based on the applicable disaster type and scope.

ARTICLE 3 - SERVICES TO BE PERFORMED.

CONTRACTOR shall perform the services as stated in the Request for Bid of Contractual Services for Disaster Debris Clearance and Removal Services (the "Request for Bid") and the CONTRACTOR'S Response attached hereto and incorporated by reference as part of this AGREEMENT, and as may be specifically authorized by the CITY. Such authorizations will be referred to as Task Orders. Each Task Order will set forth a specific scope of services, rate/amount of compensation, estimated completion date, and other pertinent details of the task being authorized.

ARTICLE 4 - COMPENSATION

CITY shall pay CONTRACTOR in accordance with the Hourly Equipment and Labor Price Schedule and Unit Rate Price Schedule included with CONTRACTOR'S Response, which is attached hereto and incorporated by reference as part of this AGREEMENT.

CONTRACTOR may submit weekly or semi-monthly invoices for services rendered in accordance with the attached Request for Bid. Invoices must reference the Task Order number. CONTRACTOR shall submit invoices on a regular basis and in no instance, for more than a thirty (30) day period. CONTRACTOR shall be paid within twenty (20) days of submitting a complete invoice. If there are any items in dispute, CONTRACTOR will be paid for those items not in dispute, and disputed items will be resolved within 45 days, and paid within 10 days of resolution. Disputed items must be submitted to CONTRACTOR within ten (10) days of the receipt of the invoices.

Payment of CONTRACTOR by CITY is not contingent upon the CITY being reimbursed by any Federal or State agency. Payment to CONTRACTOR will be made for any work directed by the CITY.

In order for both parties to this AGREEMENT to close their books and records, CONTRACTOR will clearly state "Final Invoice" on CONTRACTOR'S final/last billing to the CITY.

ARTICLE 5- INSURANCE

CONTRACTOR shall maintain insurance limits in accordance with the Request for Bid. CONTRACTOR shall provide CITY six (6) original Certificates of Insurance evidencing such coverage prior to execution of this Agreement and again within twenty-four hours of receiving a Notice to Proceed under this Agreement.

ARTICLE 6 - SURVIVAL

Upon completion of all services, obligations and duties provided for in this AGREEMENT, or in the event of termination of this AGREEMENT for any reason, the terms and conditions of this AGREEMENT shall survive.

ARTICLE 7 - INDEMNIFICATION

CONTRACTOR shall defend, indemnify, and save harmless the CITY, its officers, agents and employees from and against all claims, damages, losses, and expenses including attorney fees arising out of or resulting from the performance of the work, caused by any act or omission of CONTRACTOR, any subcontractor, and anyone for whose acts any of them may be liable.

ARTICLE 8 - RELATIONSHIP OF PARTIES.

The CONTRACTOR shall operate as an independent contractor, and the CITY shall not be responsible for any of the CONTRACTOR'S acts or omissions. The CONTRACTOR shall not be treated as an employee with respect to the services performed hereunder for Federal or State tax, unemployment, or workers' compensation purposes. The CONTRACTOR understands that neither federal, nor state, no payroll tax of any kind shall be withheld or paid by the CITY on behalf of the CONTRACTOR or the employees of the CONTRACTOR. The CONTRACTOR further agrees that the CONTRACTOR is fully responsible for the payment of any and all taxes arising from the payment of monies under this Agreement. The CONTRACTOR shall not be

treated as an employee with respect to the services performed hereunder for purposes of eligibility for, or participating in, any employee pension, health, or other fringe benefit plan of the CITY. The CITY shall not be liable to the CONTRACTOR for any expenses paid or incurred by the CONTRACTOR unless otherwise agreed in writing. The CONTRACTOR shall supply, at its sole expense, all equipment, tools, materials, and supplies required to provide the contracted services unless otherwise agreed in writing. The CONTRACTOR shall comply with all federal, state, and local laws regarding business permits, certificates and licenses that may be required to carry out the services to be performed under this Agreement. The CONTRACTOR shall insure that all personnel engaged in work under this Agreement shall be fully qualified and shall be authorized under state and local law to perform the services under this Agreement.

ARTICLE 9 - CITY'S RESPONSIBILITIES

CITY shall be responsible for providing access to all project sites, and providing information required by CONTRACTOR that is available in the files of the CITY to assist CONTRACTOR in completing any assigned tasks. CITY is responsible for assisting in obtaining any permits for CONTRACTOR to complete any Task Order assigned.

ARTICLE 10 - TERMINATION OF AGREEMENT

This AGREEMENT may be terminated in accordance with the terms set forth in the Request for Bid and fully incorporated by reference herein.

ARTICLE 11 - NON-DISCRIMINATION

CONTRACTOR shall treat all of its employees equally without regard to race, color, religion, gender, age or national origin.

ARTICLE 12 - SEVERABILITY

The invalidity, illegality, or unenforceability of any provision of the AGREEMENT, or the occurrence of any event rendering any portion or provision of this AGREEMENT void, shall in no way affect the validity or enforceability of any other portion or provision of the AGREEMENT. Any void provision shall be deemed severed from the AGREEMENT and the balance of the AGREEMENT shall be construed and enforced as if the AGREEMENT did not contain the particular portion or provision held to be void. The parties further agree to reform the AGREEMENT to replace any stricken provision with a valid provision that comes as close as possible to the intent of the stricken provision. The provisions of this section shall not prevent the entire AGREEMENT from being void should a provision which is of the essence of the AGREEMENT be determined to be void.

ARTICLE 13 - ENTIRETY OF AGREEMENT

The CITY and CONTRACTOR agree that this AGREEMENT, including the Request for Bid and CONTRACTOR's response to said request incorporated by reference and attached hereto, sets forth the entire AGREEMENT between the parties, and that there are no promises or

understandings other than those state herein. This AGREEMENT supersedes all prior contracts, representations, negotiations, letters or other communications between the CITY and CONTRACTOR pertaining to the services, whether written or oral. None of the provisions, terms and conditions contained in this AGREEMENT may be added to, modified, superseded or otherwise altered except by written instrument executed by the parties hereto.

ARTICLE 14 - MODIFICATION

The AGREEMENT may be modified in writing by Amendment executed by both CITY and CONTRACTOR.

ARTICLE 15 - SUCCESSORS AND ASSIGNS

CITY and CONTRACTOR bind themselves and their partners, successors, assigns and legal representatives to this AGREEMENT. CONTRACTOR shall not assign this AGREEMENT without the express written approval of the CITY.

ARTICLE 16 - NOTICE

Any notice, demand, communication, or request required or permitted hereunder shall be in writing and delivered in person or sent by certified mail, postage prepaid as follows:

As To CITY

CITY OF NORMAN, OKLAHOMA

P.O. Box 370

Norman, Oklahoma 73070

(Attn: Scott Sturtz)

As To CONTRACTOR

TAG GRINDING SERVICES, INC 1113 HORSESHOE BEND ROAD DADEVILLE, AL 36853

ARTICLE 17 - GOVERNING LAW.

The parties agree that this Agreement shall be governed by the laws of the State of Oklahoma.

ARTICLE 18 - BOND

Upon issuance of a Notice to Proceed or Task Order, CONTRACTOR will provide such bonds as described in the Request for Bid attached hereto.

IN WITNESS WHEREOF, CITY and CONTRACTOR have executed this AGREEMENT.

DATED this day of	, 2014.
CITY OF NORMAN, OKLAHOMA	
Ву:	
Mayor Cindy Rosenthal	
ATTEST:	
By:	
Brenda Hall, City Clerk	
Approved as to form and legality this day of	, 2014.
CONTRACTOR	
Name: JERRY W. BROOKS Title: C.F.O.	
ATTEST:	
By: Arm T. Hawkins	
Title:	

SCHEDULE 2 - UNIT RATE P Reference to Section			
25.2 ROW Vegetative Debris Removal (Collect & Haul)	2041 For to		
Volk consists of collection and transport of vogetable dobres or the ROW in a copposed DMS of other designated disposal facility.	Ny - N Per Cubic Viria	Estimated Cubic Yards	fotat
	6.95	536.000	3,725,200
25.3 ROW C&D Debris Removal (Collect & Haul)			
York consists of collection and transport of CAD debris on the RCVV to a City pproved DMS of other designated disposal facility.	5 Per Subjective	Estimated Cubic Yards	
	7.15	80,000	572,000
25.4 Private Property Vegetative Debris Removal			
Vork is results of collection and transport of wigerstive debut, within projete group o a City approved DMS of other designated disposal facility.	erty S Per Cubic Yard	Estimate Cubic Valds	Titlat
	7.25	00.000	439393.50
25.5 Private Property C&D Debris Removal			151515.30
Vork committs of collection and transport of C&D debter on private property to a copposed DMS of other designated disposal facatry.	Sty - 5 Per Cubic Yard	Estimated Cubic Yards	Total
	7.50	17.606	282,000
25.6 City Parks and Other City Property Vegetative Debris Removal			
York consets of collection and transpart of vegetable debrs in City parks or oth Ity property to a City approved DMS at other designated disposal facility.	\$ Per Cubic Yard	Estimated Cubic Yards	Total
	7.00	100.000	700,000
25.7 Removal of Hazardous Leaning Trees and Hanging Limbs in City Parks and Other City Property		100/100	100,000
Nork consists of removing hazardous learing trees or hanging limbs from City p in other City property	arks S Per Tree	Estimated Tree Total	Total
6 inch to 11 99 inch diameter	65.00	100	19,500
12 metr to 23 09 metr diarreter	110 00	200	ZZ, 00 0
24 inch to 35 99 inch diameter	225 .00	100	22500
all each to 17 99 mich diameter	300.00	20	6000
45 inch and larger diameter	400.00	10	4000
	3 Fee Trees	Estimated free food	Total
Hangers greater than two (2) inches in manners	58.00	2.680	154, 280
25 8 Removal of Hazardous Stumps from City Parks and Other Public Property Work consults of removing trazer double stumps and placing them on the ground is table off.	I Per Linit	Estmacel Linns	Total
24 mon to 35 99 men disprimer	250.00	50	12500
50 mc1r to 47 99 min diameter	350.00	30	10 500
48 more and Jarger sharrarian	450.00	10	4500
25.9 DIMS Management and Operation			, 20
York introduced all lobus, equipment, find and motoritacients contributed to natingle and operate a EMS on an informal accordingto.	1 Per Cubu Yard	Emmarii Cubii Variii	Titac
	1.00	BNE BOD :	534,000
25 10 Chipping (Reduction of Storm Generated Debris)			
Work controls of all libbor, equipment, fair unit-respetanteaus coats recessions to educe storm generated debut by impring	1 Per Cabic Yarg.	Ellimond Cubic Yards	Total
-per	1.50	(E5 000	980,400
35.11 Haul-out of Reduced Debris to Final Disposal Site Neck Committed Education and Industrial Indused Season from a Edition in Original Committee Committ	1 Car Cubic Time.	Emmand Cabe, Yards	Tural
approved from despression for all y	7 60		16-2-
	3,50	1.10,1100	457800

25.12 Removal of ROW Hazardous Leaning Trees and Hanging Limbs Work consists of removing hazardous leaning trees or hanging limbs and placing hem on the ROW for haul-off	\$ Per Tree	Estimated Tree Total	Total
8 inch to 11 99 inch diameter	65.00	500	32,500
12 inch to 23 99 inch diameter	110.00	300	33.000
24 inch to 35,99 inch diameter	200.00	200	40,000
36 inch to 47 99 inch diameter	300.00	10	3,000
48 inch and larger diameter	400.00	5	2,000
Canada and the beautiful and the second	\$ Per Tree	Estimated Tree Total	Total
Hangers greater than two (2') inches in diameter.	58.00	23.250	1348900
25.13 Removal of Hazardous Stumps from City ROW Nork consists of removing hazardous stumps and placing them on the ROW for raul-off	\$ Per Unit	Estimated Units	Total
24 inch to 35 99 inch diameter	250.00	50	12.500
36 inch to 47 99 inch diameter	350.00	30	10,500
48 inch and larger diameter	450.00	10	4,500
25.14 Household Hazardous Waste Removal Transport and Disposal Work consists of all labor, equipment, fuel and miscellaneous costs necessary for emoval, transportation and disposal of HHW.	1 Per Pound	Estimated Pounds	Total
THE RESERVE OF THE PROPERTY OF	15.00	100.000	1,500,000
25.15 Canals and Waterways Debris Removal (Collect & Haut) Work consists of all labor, equipment, fuel and miscellaneous costs necessary for emoval, transportation and disposal of debris from City canals and waterways	\$ Per Cubic Yard	Estimated Cubic Yards	Total
	35.00	5.000	175,000
25.16 Abandoned Vehicle Removal Nork consists of the removal of abandoned vehicles in areas identified and approved by the City and subsequently transported to a City approved staging area.	\$ Per Unit	Estimated Units	Total
The second secon	175.00	100	17500
25.17 Animal Carcass Removal and Disposal Vork consists of all labor, equipment, fuel and miscellaneous costs necessary for emoval, transportation and disposal of Animal Carcasses	1 Per Pound	Estimated Pounds	Total
	.50	1000	500
25.18 ROW White Goods Debris Removal (Collect & Haul) Nork consists of all labor equipment, fuel and miscellaneous costs necessary for emoval, transportation and disposal of White Goods	\$ Per Unit	Estmated Units	Total
	28.00	1000	28000
25.19 Freen Removal Vork Consists of the recovery and disposal of refrigerants from items containing freen	\$ Per Unit	Estimated Units	Total
	62.00	750	46500
Total Estimated Contract Price 5 /1, 202, 5 73.50			

^{**}Cradle to grave pricing for vegetative, stump and tree removal and disposal are encouraged and may be included by the Contractor for consideration by the City. If alternative pricing is included, the Contractor must specify which unit rate scope items are included. All estimates are derived using the Norman, Oklahoma Disaster Debris Management Plan. Estimates are calculated using a moderate disaster model and should not be considered actual totals. It is assumed that all portions of the above rate schedule may be necessary during debris removal and clearance operations.

SCHEDULE 1 - HOURLY EQUIPMENT AND LABOR PRICE SCHEDULE

Equipment Type - Ref. to Section No. 24.1 of RFB	Hourly Equipment Rate	
Bobcat Loader	55.00	
Bucket Truck w/Operator	135.00	
Crash Truck w/Impact Attenuator	250.00	
Dozer, Tracked, D5 or similar	135.00	
Dozer, Tracked, D6 or similar	175.00	
Dozer, Tracked, D7 or similar	190.00	
Dozer, Tracked, D8 or similar	200.00	
Dump Truck, 18 CY-20 CY	80,00	
Dump Truck, 21 CY-30 CY	85.00	
Generator and Lighting	40.00	
Grader w/12' Blade	150.00	
Hydraulic Excavator, 1.5 CY	135.00	
Hydraulic Excavator, 2.5 CY	175.00	
Knuckleboom Loader	95.00	
Lowboy Trailer w/Tractor	125.00	
Mobile Crane (Adequate for hanging limbs/leaning trees)	175.00	
Pickup Truck, .5 Ton	45.00	
Truck, Flatbed	65.00	
Water Truck	65.00	
Wheel Loader, 2.5 CY, 950 or similar	125.00	
Wheel Loader, 3.5 - 4.0 CY, 966 or similar	135.00	
Wheel Loader, 4.5 CY, 980 or similar	175.00	
Wheel Loader-Backhoe, 1.0 - 1.5 CY	85.00	
Other - Please List		

Labor Category	Hourly Labor Rate
Operations Manager w/Cell Phone and Pickup	85.00
Crew Foreman w/Cell Phone and Pickup	65.00
Tree Climber/Chainsaw	125.00
Laborer w/Chain Saw	47.00
Laborer w/small tools, traffic control, or flagperson	45.00